® &0l dem o7, EOI7H 4em Q1 9715

@ ¥AIEo] 4em ©11, %ol7t 5em A YT

® & BA} 7em 9 FHEA

@ ZAylo]7t 216 cm? 91 FSHAA

@)m#el 9771 15.7cm ©|1, 017k Gem 9 D715

@D 4x4x3.14 x 4 = 200.96( cm?)

@ 4x4x3.14x5 =251.2(cm?)

@ TxTxT7=2343(cm?)

@ 3 2429 LolE [ |em 2t 51

[ Ix[ ]x6=216,] |x] ]=36,[ ]=6

e Bols 6 x 6 x 6 = 216( cm?) YU},

® ¥ o] Htz]50] 15.7 + 3.14 + 2 = 2.5(cm)

ojBZ Hul=25x25%3.14x6 = 117.75(cm?) Y TH




2 et 29 S]] 7} gl A Qi SRt 4]
HEH T g e g B tEE B AdY7

=W = =]

4434+14+24+1424+3+1+1=18(70)




wetA, AEAE 24 4+ 12 4+ 12 + 8+ 8 = 64(7l) ottt

A7)0 vhefol] g 3rg A Qf 7wl 2 AS 2ol
gyt 287 27 2adu?
> = il
> = 64
9, &, dolA 2 2L oF 183 EsyTh
9 Sl d
4 4 4
2474 1274 87




197} F4& Astel /RS He nFULh 2L FHoR
A HIFRE rh, 0 9] $171ol BIRE B o] oto}
sheA] P2,

ZA71U5 9] 2& ZolHH
@M 20,470, 170, @70, 270, 470, 170), - 9] F2lo=z

HoPhm 982 & 4 Uk

wrebA, @2 Aol B71U-F-E 4 71 Zotof gyt




ALY

326.56 cm®

‘ 4x4x3.14x%x13x

P

ul
RO

.I

= 326.56( cm?)

1
2




